1/10/22, 12:34 PM

Question 1

Not yet answered
" “irked out of 1.00

0MB6MR030 60bdMI0L doMomaEO doboboomydgmmoo
Select one:

O a. 3mmA-083gMHYmo

O b, 39mm™b-3mmbyco

O €. 8999M-00396mo

O d. goh-6o3yMo
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Question 2

Not yet answered
Marked out of 1.00

0MO6MR030 06YJ30YOHMB0L 30HMd0MO 0Mb0d3b00

Select one:

O a.

e

ot

O ¢

ﬂ
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Question 3

Not yet answered
Marked out of 1.00

0603037960 0600J309MMd0 3obolodMmgMmgdo, Mmam®m 3ogbohy®mo bozool 9bom Bomdmgdymo
Select one:

O a. bLEHOIIMO 3909M-0339M YO obobooMIOIMOD

O b. bAHOHOZIO0 FPMMB-3MMAHYMO BobobooMmIdIMOEE

O €. 060303960 39Mb-3mMAHIM0 Joboloo?mgdgmMoEob

O d. ©0bd3039M0 39096-0339M 7m0 3oboloomgagm0ob

Question 4

Not yet answered
Marked out of 1.00

R9OMIdgboh Mo dobogmo goboghmo dobhgmgdoliol ygmmaom oMol dogbodh Mo

Select one:
O a. Moo
O b. 8ogoc0

O c. 3mobhogzgdo
O d. ©®y3000
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Question 5

Not yet answered
Marked out of 1.00

MO0 0MO6MR030 B0boMMdd 399MMYONEM00 30MHOMIMYMOE. om0 Jobolloomygdmgdo 9bolo o dodgol EOEYdOmO
9603369 Md900Lom30L 90l 141=V2+4V-2  ©o [,=V2+6V-2.5 . 308mm3gomgo dodgo 30Mmomgmym 100689, oy 0mobmx030
B0boemm0ogd0l 969000 Fodo oMol 1 o.

Select one:
Oa. 093
(O b. 53
Oc 053
Od. 23

Question 6

Not yet answered
Marked out of 1.00

3903030 960l 6HYE30 AoOMYMO0O 303EIZMMINM MM Bobg3oMHodHOMHPIMO EOMEO, MMIJM MO MM EH-0339MYMO
Boboboomgdmgdes ¥, =10°3T, 7, =5003/T  0hg®oEommo gmm@on goblodmg®mgm ©gbol doobmmgdomo 8608369t mds, my
B 9ol dgbogomdg dmdgdgpgol dodge 18 g

Select one:
O a. 23
O b. 508
O c 80dd
O d. 0.98
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Question 7

Not yet answered
Marked out of 1.00

30gbohn®mo dodgol 9O MYYMo oMol

Select one:
Oa o
Ob. 3
O ¢. 3890960
O d. 367"
Question 8

Not yet answered
Marked out of 1.00

30gboh®m 6M9EA0n 3M3ol Eododogbohgogmmo dogmo 3O M3MMEOYMO MO0l
Select one:

O a. 9mggdd®OImo godhommanl

O b. 9mgddh®mBodmdMo3g09emo dogmols

(O €. 893bohg®o Bobommool

O d. 308030 3odogomo ©gbol
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Question 9

Not yet answered
Marked out of 1.00

MHM3gMoo 30360 &mo BogoEol ghmgymo?

Select one:
O a. 396Mo;
O b. gomoco.
O ¢ H9Lbemo;
O d. 3gd9™0;
Question 10

Not yet answered
Marked out of 1.00

0,2¢9bemo 06300l 9O maz0MmmM30b 3ogbo¢y® 39tmTo AM™Mo3LgdYMOd ¢ = 40 1:d. Log®Mdol goddhomo, MMAgMmAos gool 50 o.
©0960. 306LOBdM3MM 3gmbg B o F 399hmcmgol dmmol, my godhomdg dmgdgogdl 4 boyhmbo dogmo

Select one:

O a. x =45°
O b. ¢x =60°
O c & =30°
O d. ¢ =90°
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Question 11

Not yet answered
Marked out of 1.00

7069ME30M 0MOBEMR030 9mgIH®MmOo Bobommool 3mmbod3gmymo dobobo-omgdgmo o0bgHgos 3PoMo doMmadmmon =510
313 . 3odmmgomgm 960l 306390 30MIMB030L 233MohEIM0 3603369emmdY, 07 dols dmMIZgM9ddg dmddgEgdl bobylmoEn®o
doogo v=30sin 314¢

Select one:
O a. 101.25»
O b. 3160
O¢c 259
O d. 1230
Question 12

Not yet answered
Marked out of 1.00

3M39m309m0 LobJoMmoL (33eMoEO EYHOL 3MEOL RYOMTOZb0HYMHO Moo 3BoEEYOS
Select one:

O a. guoHEmm3060 gmadh®mHgdbozn®mo ammoobogob

O b. L3ogmgbdol omRohgoobogod

O ¢. 33Gmomo bobogob

O d. ®mamemE omydobol Lbaymo Egdhomo

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32162&cmid=1937 712



1/10/22, 12:34 PM 60dw30 2

Question 13

Not yet answered
Marked out of 1.00

dod30l RgOM®MYBdMBObLYMMO L0 OBOHMEMO G0l IMBYMOO ML, MMIGMMOE 3odM0Yygbgdo

Select one:
O a. 3mdbdomgomob gbol LHodomodogoobomgol

O b. 8m3bdomgdmol dodgobo o ©gbol LHodomodogoobomgol
(O €. 3mdbdomgomol dmddgmgodg doogol bhooomodogoobomgol
(O d. 3mdbdomgdmol bobomol bhodnmodoioobomgol
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Question 14

Not yet answered
Marked out of 1.00

MMam® Bo0bghgod 3ogbodhaMo 39mol 9bgMannl bndzzeogol godmbobymgos?

Select one:
O a .
=2
2
b. BE
ob . _
F.l‘-'uﬂ
O c. i
B2
2
O d. 72
w2
2
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Question 15

Not yet answered
Marked out of 1.00

©9©o3060L Bgodn®mdg RO EoMmMmMYm 3MmMyLmob 3gmadogbody®o 39mol Eododnmmod oMol 55.7 o/3. godmm3zomgm dogbodhyMo
0bygisoo.
Select one:

O a. 225 33h9bmo

O b. 350830h9bmo

O c. 40 93hgbemo

O d. 7003hgbemo Habemo

Question 16

Not yet answered
Marked out of 1.00

MMEMM 3odMOM3M YO 3oMYIML Hom MM 6obommdd?

Select one:
a. .
O I,=a M, E,
b. _
O Sp T AE M,

OC z,=up,le

Od _
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Question 17

Not yet answered
Marked out of 1.00

9m9dHGOPMo 390l ©odadymmdd P09 9dh 0330, MMAMOL ROOHEMINMO E0IMIJHE03YMmo dgmbggoEmds 2, oMol 1 g/ba.
3o3mm3omYo 9IYIHOYo Bobozmmgde
Select one:

O a. 12.560bm3ggmmbo

O b. 15.2 3339mmbo

O c. 8.53339mmbo
O d. 1.77 bobmzgmmbo

Question 18

Not yet answered
Marked out of 1.00

303mm30MmgM dMHYIMO bddoghm 3MbEIBLoHMEMOL hgzomdd, M7 dolo BoMROHIB0L Gommmdos 100 b3? , bmemm dobdomo
R0OR0HIOLIMGOL - 1 3

Select one:
O a. 0.0885 bx
O b. 556
(O c. 8856q
O d. 886Q
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